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1) 3x* + 9x% = 12x10

A) Gl B) s

2)Bx+4)(5x +2) =15x*+ 6x + 8

A) Qlsa B) s

3) 3x2(4x5 —10x% — 2x + 6) = .......

A)12x7 — 30x* — 6x3 + 18x? B)12x'° — 30x* — 6x* + 18

c)12x3 — 30 — 6x + 18x? D)12x5 — 30x* — 6x + 18

4) (4x°y? —5) (3x%y* + 2).......

A)12x1%y8 + 8x°y? — 15x%y* — 10 B)12x7y® — 10

c)12x%8 — 10 D)12x7y® + 8x°y? — 15x%y* — 10

14x7y1% — 21x3y° 4 7xy?
7x%y?

5)

A) 2x°y10 —3xy3 +1 B)2x°y10 — 3xy3

c)2x9y14 _ 3x5y7 + x4-y4- D)2x3'5y6 _ 3x1.5y2.5 + Xy




6) (4x° —5) (3x% +2x* +9).......

A)12x' + 8x° — 15x° + 36x°> — 10x* —45 | B) 12x° + 8x°> — 15x° + 36x> — 10x* — 45

) 12x39 + 8x2% — 15x° + 36x° — 10x* — 45 | D) G Laa 55 Y

7 2(3 °+2 4+9)—6 642t g
) 5 (3% + 2x 5 "5t s
A) Glsa B) s
8) (2x7 +3) + (10x7 —3) = -
A) 20x7 -9 B) 12x7
c)12x” - 6 D) G laa 54 Y

9) (2x84+3x+4)—(-7x8+3x+5) =

A —5x8+6x+9 B) —5x1¢ -1

c)9x® -1 D) — 5x16 + 6x% + 9

10) (7x* +3x3 +4x2 +5x) + Bx*—x3+7x—6) = -

A) 10x8 + 2x6 + 16x* — 6 B) 10x* + 2x3 + 2x* + 12x

¢) 10x16 + 2x° + 4x® + 12x — 6 D)10x* + 2x3 + 4x*> + 12x — 6




